Algorithm of Shortest Job Remaining Time First(Preemptive) CPU scheduling.
Step 1: Initialize a Structure with id, arrival, rem, wait, finish, turnaround, burst time as it’s data members &    process[n] be the array of structure to for each process.

 Step 2: Enter value of n where n is no. of process in the ready queue.
 Step 3: for (i=0;i<n;i++)

                   Enter Burst time & arrival time for the process in the array process[i].burst and process[i].arrival respectively.
 Step 4: Sort the processes in terms of their Arrival time.
Step 5: Apply loop as 

              while(call function chkprocess(n)==1)   [This function checks the remaining time of the process]

              Now, check if(process[no+1].arrival==time)     [Initially no=0 & time=0] 
              then increment the value of no++
                              again check  if(remaining time of jth process==0)   [Initially j=1]
                              then do process[j].finish=time
                              again j=call function nextprocess( ) [This function returns the next  process no whose remaining time is less than infinity]
               else check if(remaining time of jth process!=0)

                               then decrement the remaining time of process j by 1.
                               for (i=1;i<=no;i++)

                                     check if(i!=j && rem time of ith process!=0)

                                      then increment in the value of waiting time of process i by 1.
               else

                               Initialize the finish time of jth process to variable time.
                               Again j=call the function nextprocess() & decrement the value of time by 1.
              Again apply k=j & increment the value of time by 1.

Step 6: for (i=1;i<n;i++)
             process[i].turnaround = process[i].wait + process[i].burst;

            [Turnaround time for ith process is waiting time + burst time of the same process].                                                                                      
Step 7: for (i=0;i<n;i++)

                      avg = avg + tr[i]         [Average turnaround time of n processes is avg/n].
Step 8: avg=0.0
Step 9: for (i=0;i<n;i++)

                     avg = avg + wt[i]         [Average waiting time of n processes is avg/n].

Step 10: Print all the values.
Step 11: Exit.
